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FT-XII 772013
SUBJECT : ACCOUNTANCY (SET-I)

Time : 3 Hrs. M.M.: 100

Instructions ;

(i}  This guestion paper contains 25 questions.

(i) Marks for each question are indicated against it.

(i) All parts of a guestion should be attempted at one
place.

fiy) Show the working notes wherever required.

©1. What doyou mean by the term "undistributed profits™?(1)

2. What is Purchased Goodwill'? (1)

(3. What are the recommendations of AS-26? (1)

(34. What are the circumstances under which reconstitution of
a partnership takes place? (1]

5. Whal Is the labilily of the retiving partner towards third
party, alter his retivement? (1]

Q6. Why is Il necessary o revalue assels and reassess labilities
al the tme of retirement of a partner? (1)

Q7. Dr. Amit and Dr. Ruch! are running & hospital in
parinership. They decided to offer free O.P.D. facllity to
people of low incoms groupe an every Sunday from 3 a.m.
to 1 p.m. and free examinaton of physically challenges
people on all working days. Indicate the values involved in
their decision. (2]

(8. Pand Q are partners sharing profits in the ratio of 3:2. P is

a non=working partner. He contributed ¥ 5,00,000 as his
capital. @ did not contribute any capital, The partnership
desd provides Interst on capital & 10% p.a. and salary to Q
at ¥ 2,500 p.m. The net profit betore providing Interesl on
capiial Al salary amounied {0 % 40,000 for the year ended
3let March, 2012

Show the distribution of profit for the ye=ar. (3

(1)



Q9.

Q10.

Q11.

Q12

Distinguish between Profit & Loss Account and Profit &
Loss Appropriation Account. (3)
Aand B started a partnership firm on 1st April, 2010 with
capital of ¥ 2,00,000 and ¥ 1,50,000 respectively., On 1st
July, 2010 they introduced capital of ¥ 50,000 and T 30,000
respectively. B. however, withdrew ¥ 20,000 out of his
capital on 1st Februray, 2011,

Compute interest an capital of partners for the year ending
31st March, 2011 assuming rate of interest on capltal @
B% p.a. (3)
Eﬂrnpu:teiuterestmdrawm,ga@ 10% p.a. for the year 2011
if Amit withdrew the following amounts during the year,

&
February 1 3.000
April 30 4,000
June 1 3000
=aplember 30 5,000 e L
Nevember | 7.000
December 31 2,000 (4]

A-and B are partners sharing profits & lnsses in the ratio

|

Of 3:2. At the end of the year, e, on S1st Mareh 2010
(after medmsjmn{uujﬂfipmﬁu.qumdrdwmkt
C. their manager, tnto the partnership with effect from 15t
April 2007, As manager C was getting un annual salary of
¥ 45.000. He had also advanced 3 3,00,000 to the firm by
waly of a loan on which he was getting Interest @ 10% P
During the three financial years, firm's profits after
udjusting C's salary, interest on loan and interest on capital
of partners were -

Year ended Amount

31s1 March 2008 Pratit € 4,00,000
J1st March 2009 Loss ¥ 2,00,000
d1st March 2010 Profit < 6.00,000

2




According to teh new agreement. C js to be given annual

( Salary of ® 35,000 and 1/5th share In the profits of the

g13.

014,

firm. C's loan shall he treated as his eapital from the
beginning and similar to other partners, his capital will
carry interest @ 6% p.a.

Record the necessary journal entries assuming that interest
tn capital was allowed as a charge. Show the working
clearly, (4]
Kumar and Raja were partners in a firm sharing profits in
the ratio 7:3. Their fixed capitals were - Kumar 9,00,000
and Raja ¥ 4,00,000. Tha partnership deed provided for
the following but the profit for the vear was distributed
without providing for -

() Intereston capital @ 9% p.a.

) Kumar's salary T 50,000 Per year and Raja's salary
¥ 3,000 par month,

The profit for the year was 7 2,78,000. Fass (he adjustmes|

eniry. (4]

lal R, SandMare pariners in a firm sharing profts 1

221
the raliy = E_E reSpectively. M retires aud his gl

is taken by Rand S in the ratioof 2:1. Calculate (e
new ratio,

[B] A, B and C are partners sharing profits cqually. A
2ot heart attack so Le decided to retire. B and £
offered to admit R, son of A who has just graduated,
on the same terms, A agread Lo Ihie, indicate any
two values in their decision to atdmit R as 1 partner

(2+2=4)

3. A Y and Z are partners sharing profits in the ratio of 5:3:2.

¥ retires selling his share to X and Z for 7 30,000; T 20,000
heing paid by X and ? 10,000 by Z. The profit for the year
after Y's retirement is € 19,000, Xand Z lring the neCessary

(3]



Q186.

Q17.

18,

@19,

amount in cash and Y, was paid off. Pass the necessary
fournal entries to record the sale of Y's share to X f HE
and distribute the profit between X and Z. (4)

L. M and N are partners in a firm sharing profits in the

ratio of 2:2:1. They decided that N will get ‘4th share in

future profits. Goodwill of the firm was valued at ¥ 80,000,

Goodwill already appeared in the books ¥ 20,000, Pass

necessary journal entries. £

A and B were partners in a firm sharing profits and losses

in the ratio of 3:2. They admitied C as a new partner for

3/7th share in the profits and the new profit sharing ratio
will be 2:2:3. C brought ¥ 2,00,000 as his capital and

T 1,50,000 as premium for goodwill. Half of their share of

premium was withdrawn by A and B from the Mrm.

Calculate sacrificing ratio and pass journal entrics. (4}

(a] K. LandMwere parlners in a firm sharing profits in
the ralin of 2:1:1. M was guaranieed a profit of
¥ 25,000. K agread to meet the liability arising out of
guarantec. The firm earned a profit of T 80,000 for
the year ended 31.5.2012. Prepare Profit & Loss
Appropriation Account.

(b  Theaverage profit earned by a firm is ¥ 55,000 wlich
includes abmormal income of T 5,000 on an average
basis. The capital invested In the business is
T 5.00,000 and the normal mte of return is 8%,
Calculate goodwill of the firm on the basis of 4 year's
purchase of super profits. [3+3=5)

(@)  Explain e fullowing -

contigencies.
[} Compulsory dissolution.

(b} Howis the share of deceased partner in current year's
proportionate profits calculated? [3+3=6)

(4




Q20. Following 1s the Balance Sheet of P, K and B as on
31,2.2012. They shared profits in 6:3:2.

L

Balance Sheet as at 31.3.2012

Liabilities T | Assets T
Crexitors : 4,600 | Building 23,400
Reserve 5,400 | Plant & Machinery 13,000
Capitals Stock 4,700
P 24,000 Debtors 8,500
K 12,000 Cash 6,400

B 8,000 | 44.000
54,000 54,000

P ddies on 30.6.2012, Under the (erms of the deed, the
sxecutor of A deceased partner was enfitied 1o -

(a)

13}
[c)

()

Amount standing to the credit of partner’s capital
apomurl,

Interest on capital & 12% p.a.

Share of goodwill of the firm which was valued 23
T 36,000 on I™s death.

Share of profit from the closing of the last financial
year to the date of death on the basis of last year's
profit. Profit for the year ending J31..3.2012 was
T 7,000.

Prepare P's capital account to be rendered to his excutor.

Q21.

(6)

% and Y are partners in a firm. They decided to dissolve the

firm, Give jeusrnal entries in each of the following alternative
Cases -

=)
()

Realisation expenses were ¥ 1,000

Realisatlon expenses amounting to ¥ 1,000 paid by
X

X agrees to take over the responsibility of completing
dissolution at an agreed remuncation of ¥ 1,600 and

(3



to bear all realisation expenses. Actual realisation
expenses were ¥ 1,000 and were paid by X out of2.'s
private funds. :

(d} Xagreed totake over the responsibility of completing
dissolution at an agreed remuneration of T 1,600 and
to bear all realisation expenses. Actual realisation

2 expenses amounting to ¥ 1,000 were paid by the firm. |

[¢) Realisation expenses T 1,000 were paid by Y and

borne by X. 6 |
022. Ajay. Vijay and Naresh were partmers sharing profits in the |
ratio 3:2:1. The Balance Sheet of the firm on 31st March

2012 was as follows -

Balance Sheet as at 31.3.2012

Liabdlities T | Aszets L
Creditors 17.000 | Bank 10,000

Provident Fund 13,000 | Debiors 40,0040
Reserve Fund 18,000 |- Provisiens  1.DDO| 39,000
Capitals - Stock 15,000
Ajay A0, 00 Investment L&, 000
Vijay 30,000 Fatents 3.000
Marask 20,000 | 90,000 § Flanl & Machinery &, D0
1,386,000 138,000

Naresh retired on the above date on thel'a]}nm;g terms -
()] Goodwill of the firm was valued at ¥ 42,000,

[ii] Value of Patents was to be reduced by 200 and that
of Plant & Machinery by 1096,

(iii) Provision for doubtful debls Lo be raised to 8%,
[iv] Naresh took over invesiments at a value of € 17,500,

(v] Liability on aceount of Providen! Fumd was only

+ 12,600,
Prepare Revaluation Account. Capltal Accounts and the
revissd Balance Shest, ()

(E].



Q23.

P and @ are partners sharing profits in the ratio 3: 1. Their
Balance Sheet as on 31st March 2011 was as follows -

Balance Sheet as at 31.3.2011

Liabilities T | Asscls 4
Creditors 11,000 | Cash 4,000
Workmen Compensation Debtors 16,000
Fund 4,000 | - Provision 500 15,500
Imvestment Fluetuation Stock T | 18500
Fund 1,000 | Imvesimenl 6,000
General Reserve 2,000 | Goodwill 4,000
Capitals -
P 16,000
Q 14,000 | 30,000
28,00 48,000
R is admitted for 1/5th share in profits on the following
TErIns -

024,

(i) Market value of invesument is € 4,200,

(]  Accreed interest § 200,

(1} Provision for doubtiul debts was in excess by T 200,
(v] A claim of Workmen Compensation was % 1.000.

(v} Ristobring ¥ 10.000 as goodwill share,

(i) Total capital of the firm was agreed as T 50,000 to be
ad|usted In their profit sharing ratlo. R brings his
capilal in cash but eapiials of other pariners be
adjusted by opening current accounts,

Prepars Revaluaton Account, Capital Accounts and the
revised Balance Sheet. (=)
X and Y are partners with capitals of ¥ 50,000 and ¥ 30,000
respectively on 1st.Jan., 2011, The trading profit for the
year before appropriations was ¥ 22,000

As per the deed. interest on capital 15 allowed @ 8% pa. Y
is entitled to a salary of ¥ 500 p.m. Drawings of partners
were ¥ 6,000 and ¥ 5,000 and interest eereon being T 300
and ¥ 200 for X and Y respectively.

(7]



Prepare Profit & Loss Appropriation Account and Partner's

Capital Accounts. 3
Q25. Following is the Balance Sheet of A and B as at 31st
December 2012,
Balance Sheet as at 31st December 2012
Liabilities T | Assets ?
Creditors 50,000 | Cash in hand 2,000
Bills Payable 10,000 | Cash at Bank 10,000
Mrs. A's Loan 12,000 | Debtors 30,000
B's Loan 30,000 | - Provisions 2,000 28,000
Rescrve Fund 16,000 | Stock 36,000
Investment Fluctuation Investment 20,000
Fund 2,000 | Plant 0,000
A's Capital 40,000 | Buliding 70,000
D's Capital 40,000 | Goodwill &4.000
Profil & Loss Afc 1,000
2 000,000 2 (10,000

The firm was dissolved on this date on the allowing terins-

fal  Aagreed W pay off Mre. A's loan and took away half
the investment al # 8,000,

(hl B took away hall the inveatment at 80% value.

(e  Debtors realised 3 26,000 and stock T 32,000,

(d}  Creditors and Bills Payable were due on an average
basis two months after 31sl Dec., but they were paid
impedizdely on 31st Dec. at 12% p.a. discount.

(e}  Flant realised 109 below the book value and Building
20% above the book value.

[f)  There was an old typewriter in the firm which had
been writtet off completely from the books. It is now
cstimated to realise ¥ 1,000 and A agresd (o take it.

(@ Realisation expenses ¥ 2,000 were mel by B
personally.

Prepare Realisation Account, _ (5]

(8]
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FT-XII 72013
SUBJECT : ECONOMICS [SET-I|
e 1 3 hrs. M.M. : 100
eral Instructions

All questions in both the sections are compulsory.
Marks for questions are indicated against each.
Question Nos, 1-5 and 17-21 are very short answer
guestions carrying 1 mark each. They are required Lo
be answered in one sentence each.

Question Nos. 6-10 and 22-26 are short answer
questions carrying 4 marks each. Answer to them
should nermally not exceed 60 words each.

Question Nos. 11-13 and 27-29 are alse short ansiwer
guastions carrying 4 marks each. Answer to them
should normally not exceed 70 words each.
Question Nos, 14-16 and 30-32 are long answer
qu}stinns carrying 6 marks aach. Answer to them
should normally not exeeed 100 words each.

Ansiers should be brigfand to the point and the aboue
word limit be adhered to as far as possible,
SECTION-A

stnte ‘Taw of diminishing marginal Uty (N
When 1s the demami! for & good sald to be inelastic? (1)
What happens io total expenditure on eommodily when
{ts price falls and its demancd in price elastic? (1)
Delfine budget sel. (1]

What i the clasticity of demand at the mid point of &
stratght line demand curve touching both the axes. (1)

Explain the condition of consumer’s equilibrium in case of
a single commodity.” (3]

Define an economy, Why does it face the problem of ‘what
to produce™ 13

\1)

o



Eriefly explain any two factors affecting price elasticity of
demand. : (3)
OR
Which of the fallowing commedities have inelastic demand?

Give reason.
il Mobile Phone
fiij = particularbrand of ghoes
(1] waker
A copsumer wants o consume two goods X and ¥, The
prices of lwo goods are & 4 and ¥ 5 respectively. The
conaumer's income is T 20, (3]
i Write down the equation of uget line.
(i) Can Lhe consumecr afford a bundle 2X and ayy
Expluin. . '
(i) What will be the marginal rate of sphstitution MRS
G when the consuimer is tn equilibrium?
. Why is a production poasibiliites curve eoncave? Explain.
(3
. A consumer consumes only o g,nml:-i X and Y. Slate and
explaln the conditions of conaumer's eyuilibrium with the
help of utility analyss. (4)
. At a price of ¥ 10 per unit, a consumer epends © 1500 on
that commodity. When price riscs by 2005, llal gxperviiture
on it also rises hy T 60, Caleulate price elasticity of demand
by using pereentage method. (4
OR
The: price elasticity of demand of good X 1s hall the price
elasticity of demand of good Y. A 10% fall in the price of
good ¥ results In a rise In its demand from 404 units (o
%20 units. Caleulate the percentage change in quantity '
demanded of good X when its price falls from TI0OtTE
per unit. (3

()



' sroduction ln an economy s below its potential due to
mnemployment, Governiment starts employment generation
schemes. Explain its effect using production possibilities

TTVE. (4]
Explain the effect of the following on demand for a good.
Sive examples also. €]

] Riscin the price of related goods.

[} Fall in the income of the consurmer.

Distinguish between: (B}
{fa) individual demand and market demand.

) increase in quantity demanded and increase in
demanil. [with schedule)

Using indifference curve approach, explain ihe conditions
ol consumer's equilinrium. (B)

OR
Explain any three properties of indilference curve. (5)

)
o @‘&ﬁ :
%%Q\za\b



. Give the meaning of Nominal GDP ar.d Real GDF. Which ot

these is the indicator of economic welfare? (3

. From the following information about firm X, calculate net

value added at factor cost. ; (2

: [in ¥ lakhs)

il Purchase of raw material S00

(i} Grosscapltal formation - 200

[iif) Subsidies B0

(v} Opening stock 50

(v Sales 800
[vi) MNet capital formation 180 .

(¥} Closing slock 40

(vili] Exports 101

. Explain Cenlral Bank as 'Banler's Nank’ (]

G =
Distinguish between Central Bank and Comimercial Bank.

[4)

. Why are net exports included In national income? Can gross
domestic product be greater than gross nulvial product?

Explain, (4
. Giving reasons explain how should the following be treated

int esttmation of national income. &Y

{0  Dividend received by a forelgner from investment in
sharcs of an Indian company

[}  Intercst on & car loan patd by a government-owned
COMPAITY.

(i) Family members worldng free on the farm owned by
the family.

(v}  Frofits earned by a branch of foreign bank in India.

Explain eredit ereation funetion of the Commerclal Hank
with the help of a numerical example. {6 °

OR
(4



the role of the following in affecting the- credit

lity in an economy. (3+3)
ink rate ) Openmarket pperations
te (i) Gross national product at market price. (il
rent transfers to abroad. = 1]
[ crore)
rivate final consumption expenditure 1,000
emsumption of fixed capital 100
let national disposable income 1,500
Tosing stock 20
sovernment final consumption expenditure 300
fet indirect tax : 50
Ipening stock 20
Jel domestic capital formation 110
el exporis 15
Net factor ineome Lo abroad () 10
the followiny data, caleulate (a) National Income
-5omal Disposable income. el
(in .E crore)
Compensation of employees 1,200
Rent 400
profit 800
Consumption of fixed capltal 300
Misad income of self employed 1.000
Private incofme 2,600
Net factor income from abroad (-} 50
Net ratatned sarnings of private caterprises 200
Interest - 250
Met indirect taxes 30
ek exporls (-) €0
Direct taxes paid by households 150
Corporate tax 100

()
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T OFT-XI 7/2013
SUBJECT : BUSINESS STUDIES (SET-II)

Time : 3 Hrs. M.M.: 50
General Instructions :
(1] Answers to questions carrying I mark may be

(2
(3]
(4]
Ql.
Q3.
Q4.
Qs.
Q6.

Q7.
(gH.

from in one word to one sentence,

Answers to questions carrying 3 marks may be
from 50-75 words.

Answers to questions carrying 4-5 marlks may be
about 150 words.

Answer to guestions carrying 6 marks miay be
abouit 200 words.

Dues delegation mean abdication of responsibility? (1)
How does staffing exten hevond personnel
department? i1)
Give two examples of negalive inotivation. (1]
“Coordination is the essence of management”.
Comment. (1)
How should managers deal with informal groups?(1)
Write any two features of an ideal plan. (1)

How is responsibility a derivative of authority? (1)

Name the process of deslgning and maintaining an
environment in which individuale working together
in groups efficiently accomplish sclected aims. (L)
"An crganisation provides epportunities for traming,
development and career growth of iis employees’,
Which objective of management is referred here? (1)

i



210, How can rumours be dangerous? (1)
Q11. Explain the secondary sources of information with

an example. (1)
©12. What is the principle of limiting factor? (1)
Q13. Explain the need of staffing function.of management.

v e I

Q14. Identily the Maslow's hierarchy need hfg]i]iﬁ]itcd in’
the following cases :
fa) Motivators like pension plans help to satisfy this
need.
ibi This need i3 satlsticd when one hm‘:_mm:q wiat
he is capable of being.
) Infermal groups are often formed to satisfy this
need. =)
215, Hina and Harish ave typists in a company baving same
educational qualifications. Hina ia getting T 3000 per
maonth and Harlsh ¥ 4000 per month as salary for the
same working hours. Which prineiple of management
is violated i this case? Name and explain the
principle. (3)
316. Explain the importance of principles of management,
13l
(317, 'Rules and methods are one and the same thing". Do
vou agres? Why? (3
(18, A factory manager pays less than minimum wages (o
his employees and geta their signatures on minimum
wages. He appoints workers from his community only,
To further reduce the cost he has started recruiting

2)



19,

Q20.

g21.

(2.
Q23.

@24,

workers on temporary basis only to avold increment
benefits to permanent employees. This benefitted him
in financial terms but temporary employees started
leaving the company due to the feeling of insecurity.
(@) Id :rlltif].r two values violated by the factory

manager.
(k) Name & explain the management principle not

observed by the factory manager. 3)
There are some barriers In communication which are
concerned with the state of mind of both the sender
and receiver. State any four such barriers. i4)
"Formal crganisation is better than informal
organisalion”. Do you agree with this statement? Give
TCASONS. (4)
The Marketing Manager of an organisation has heen
asked to achieve a targel gales af 100 generators per
day. He delegates the task of to sales managers
working under him. Two of them could not achieve
their respective targets. Is the marketing manager
responsible? Drisfly explain the relevant principle in
support of your answer. (1)
Explain the steps in the process of organising, — [(4)
You are the manufacturer having the main functions
of purchase, production and sales etc. Which type of
organisation struciure would you like to keep and

why? (5]
Distinguish between delegation and decentralisation
of authority. ]

(3



Q25.

(326,

Q27.

Q28.

(29,

Q30.

How can the effectiveness of communication be
Improved? y
Do you agree with the view that Taylor's principles of
scientific management and Fayol's principles of
management are mutually complementary? Give
reasons. (5)
Why does planning sometimes fail inspite of the best
efforts of management?

OR
How will you examine whether management is a
profession or not? (&)
‘Effectiveness of leadership depends on the gualities
of the leader’. Explain any six such qualities of a leader.
OR
Your friend is working as a ‘supervisor’ in Pooja and
Co. At what level is he working? What functions is he
expected to perform at this level? (]

Explain, in brief, any six external sources of
recruitment.

OR
Explain the steps in the process of selection, (B)

‘Directing is concerned with instructing, guiding and
inspiring people in the organisation to achieve its
objectives”. In the light of this statement explain the
elements of directing,

OR

‘Understanding of business environment is of -

immense significance’. Explain. (6]

i



FT-XII 7/2013 -
SUBJECT : ENGLISH (SET-II)
Time : 3 hrs. M.Marks : 100
General Instructions :
1. This paper is divided into three sections - A, B and C. All the sections are compulsory.
2. Separate instructions are given with each question wherever necessary. Read these instructions
cargfully and follow them meticulously.
3. Do not exceed the prescribed word limit while answering the guestions.
SECTION-A (READING)
l.  Read the following passage carefully :

1. When the early traders from Europe first ‘discovered” the monsoon, they realised that its winds
would blow their ships eastwards to India and then home again to Europe. They found. tog, that
the monsoon created remarkable mud banks along the coast of India, which guarantesd safe
places to anchor their ships. Thus, these early European traders became regular visitors to one
particular part on the south-west coast of india named Cochin. Merchants from the anclent city
of Rome traded there,

2. One of their rulers, the Roman Emperor Nero, put Cochin on the Roman map. He wore Indian
silk clothing, his bedchamber was decked in Indian pearls. his palace In Indian gems and tortolse
shells and he bathed in water made fragrant by rare Indian spless. Folluwing Ners example, the
Rowan aristocrate were mad for all these Indlan produces and many of them began to lonk like
wealthy Indian princes as they went ahont governent Misiness

4. Vaseo da Gama, a lamous explorer from Pertugal in Europe, had heard about the monsaan and

: its remarkable effects. He set sail to India and when he was within reach of ks Western coast, he
Fngaged the help of a knowledgeable Incal seaman, Tugether they sailed in on the favourahie
marnsaon winds, lamling af Calicul, a fow milce up the const lrom Cochin,

1. Sothere | was, 2 modern Europesn teavellsr at Cochin, watehing a huge Halian ship heading uut
of Ui harhonr. Since I wondered what kind of cargo it might be cacving | called In one of the port
officials. He informed me (hal, although Coobin still aded in tea, coffee and certain rich apices,
there Lud Leen 4 few changes since the days of earlier merchants: exparts, now included scalond
il knitwear. There had been an experiment too, in sending frogs legs to France, a delicacy the
French love. Unfortunately, povernment officlals had eventuelly Impoeed a ban on tis practies,
because a thriving frog population was needed o order to keep down the numbers of syep-
present mosquitoes,

5. Later that day, [ leasul al first hand the influence the monsoon can have on Indian life and
culture, and experieaced the profound climatic and emotinnal effccts of fts arrval At 1 pm, the
sliy began to darken. Within two hours, racing elouds had cxtingiished the swnamd lel everything
bathed i &0 inky vislst light. AL 40 clock, announced by deafening thunderclaps, the mensoon
finally swept into Cochin.

8. Inthe restawant, U hotel watters rushed to the windows, clapping and yelling, Uwir cosinmers
torgotlen. One emerged from the kitchen, hearing a teapot destined for the eonferance room
(where, 1t was rumoured, some hotel gussts were having an important committee meeting], When
he glimpsed the extrdordinary spectacls gutside, Lie Langed the teapot down on my table and ran
L join his colleagucs, Influenced by all this excitement, [ heaved upen the door and stepped et
Into the storm.

7. Soaked to the skin within seconds, [ felt & wonderful sense of warmth and invigoration, it was,
undoubdedly, a litle bit like being born again,

G-1)



8.  Then, my eyes. stil watering from the impact of the flying lowers, 1 witnessed an astonishing
scene., Two straining waiters held the restaurant door fipen while a party of men and women fileg
solemnly into the storm. The men wore smart busineas auits, the women best quality silk sarees
and high-heeled shoes. As they emerged they opened their arms and lifted their faces to the gain.
The important committee had come out to greet the monsoon. they walked towards the harbour,
strolling, laughing out loud, calling out fo each other. In the dark waters of the harbour, there
were small boats made for the safety of the jetty and its wooden shed. But soon the jetty itsell
vanished beneath the wind-driven waves, The members of the important committee atood knee-
deep In seething water, while the wind blew gusts of rain over the shed's disintegrating roof and
clung to each other with water in their eyes and looks of sublime happiness on their faces.

(a]  On the basls uf‘}ruur reading of the above passage answer the given questions briefly.

lii  Give one reason for which the monsoon was important for the early traders from

Europe. (1)
(] The Roman governmenl looked liked ‘wealthy Indian princes’. Explain. (2
(]  Acconding to the passage, what are the fen things that helpad Vasco da Gama Lo sal
to Calicurd (2}
(iv] Why, according to you, did the author arrange to visit one of the port officials n
Coclun? (2
v} The customers and waiters in the restaurant grected the members of the important
conumittes with disapproval. Explain. (2
(b] Pl words from the passage which convey Uhe similar as the following : (i =)
[l growing vigorously (para 4)
. (]  to divc strength or energy to (para T)

(f1)  vweonderful or amazing (para &)

Real Lhe following passage carefully and answer the questions that follow - I8

Chocolates make the best pifts and there is a whele industry that is ehurning eul these goodies exclnstesly
for you, Dut where did choeolste originate from? We'll phee von the answer.

The: hotanical name of the cocoa tree, [rom which chocolate 13 made, i2 Thenhrama Cacan. The first
word is Greek for food of the Gods. Depending on wham vou believe, this seductive substanee s an
tlfective mood lifter and good for the hesrt, of the cause of spots, migraine, chesity and stressed oyt
RETVES,

Now we learn that chocolate has been around for u lot Tonger than # was previonsly houghil, Traces of
It have been found in pots discovered In Mavan graves in Mexico, some of which date hack to 600 B,
which pushes back the earliest chemical evidence of chocalate by more than 1000 yeurs, [hnrolate is
made [iom the seeds or beans’ of the cocoa tree - the leathery cocon pod contains upto 100 keans,
Aztees in Mexivo and Mavana in Belize worshipped the tree and used ita baans as o forn of CUITENCY.
They also hit upon the idea of crushiug the heans, hofling them m water, then adding spices and
drinlung the resulting hot, frothy liquid. In the 18 century, Spantards who lamded in Mexten wrote of
how the Azlec Emperor Moctezuma drank choealate from pure gokl cups with prest reverspce’,
Gradually, chocolate becaie a puil of Enmpean life. Rich arstocrats and the privileged elite adopted
the habit of drinking it during the day. Chocolate diink gained in popularity when sugar was added to
it mnd eolice hovses hegan to serve it Cocos plantations sprang up all over the world ta mect e
growing demand aml as the export of Cocon beans Increassd, chocolate beceme marr cazily available
to ondinary people in Europe.

The first attempts at making solid chocolate came in the early 1800s when the rocoa beans were
ground Info & powder, heated, sweetencd and pressed Into a mould. The resplting product sesembiled
the checolale buffles we eat today bul biad a shart shelf Life.

It was a Dulch chemnizt and food scienbst, Coenrad Van Houten, who in 1825 perfected the sxtraction
1G-2)



of coena Butter from beans, which enabled the production of solld bars we would recognise as chocolate
today, in the 1880's Rudolph Lindt of Switzerland started adding extra cocoa to make a product that
melted at 38°C. Around the same time Daniel Peier, a Swiss candy-maker, added condensed milk
developed by Henrl Nestle to chocolate, making a sweeter and smoother varlety of what is now one of
the world's favourite foods.
{al  On the basis of your reading of the above pagsage make notes on it in points only, using headings
and sub-headings. Also use recognizable abbreviations WheTever NECEssary. Also supply a suitable
title to it. (3
(h] Write a summary of the above passage in about 80 words. (3]
SECTION-B (ADVANCED WRITING SKILLS)

Department of Science and Technology, Government of India is organising a sclence exhibition in your
school. Deslgn an attractive poster announcing the event and inviting the general public to visit il in
not more than 5 words,

O
Your schoal. A.M. Public School, is erganising a cultural evening to collect funds for the slum children.
The Education Minister has consented to be the Chief Guesl for the occasion. Draft a notice in about
50 words to be displayed on your school notice board. You are the school Head boy/Head girl, (5}
Your school organised an Inter School Debate [ast week on the topic, ‘Should ladies be working mathers.,
Write a report fur the same In about 125 words gving all the necessary delails for your school magazine.

OR
It was ralning heavily, You were walking towards your housc after the echnol, when suddenly you saw
a liuge neem rron cuming down and falling on the road, therely hitting a car parked there. The traffie
pamme tn & slamd still. Deserlbe the chaotic traffic scene i 100-125 wurds, {10
As B resident of 16 Shivpwi, Moddinagar, write a Jetter to the editor of a natinnal daily reganding the
long power cuts that your coleny Lias to faca pverydey and the other problems arising due to ot
1154 words).

OR
You are AnufArm, a resident of 13 WEA, Karol Bagh, Now Drelhi. You feel strougly ahenl (he il
reatment meted out to stray dogds at the hands of callous and indifferent people. Wriie & letter o the
editor of a natlonal dady giving your views on why some people Leliave in such a manner and how
these dogs should be treated. (0]
Pizzae and burgers have joyfully robbed the traditional fond and other wholesome ftews from the
Inpdian phaie. Litile does the younger gencration realize the petenilal husards they are ioviting, A A
health conacious individual, invite the atrention of the children towarils it, Wiite an article on the topic
“Eat healthy in order to stay healthy” in nol more than 125-150 words.

OR
i are ABC of class X11. Recently you spent a week In 2 rural setting. away from the hustle and hostle
of tﬁ}'{-ﬁg Wrwite an article mentloningd your exXperiences on the topic “The joy of living in (he lup of

pature” In not more izo 150 wonls, (1)
SECTION-G (LITERATURE TEX1 boois AND LONG READING TEXTE)

Read the lnes given below and answer [he gueslion that fﬁl-:;u.rT By _— 1] 14

..0n their slag heap, these chikdren T e S

Wear skins peeped through by bones and
gpectacies of stee]

With mended glass, lile bottle bits on stones
All their tlme and spacc rre foggy slum,
So blot their maps with sluiss &8 Big as doom,
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10,

1d.

13.

(f  Which two images are used to describe the shims? 1

[i)  What sort of life do these children lead? 2]
[1ii)  ldentify the literary derive used in the last line, 1)
OR

...... and

looked but soon

put that thought away and

looked out at young Trees sprinting,

merry children spilling out of their homes,.....

]  What did the poet rcalise? How did she feel? (2}
{1}  How did the poet ‘put’ that thought away'? (1}
(111)  What did she notice In the world outside? (1
Answer any two of the following questions in 30-40 words cach : (2x2=4]

(a}  Why is the poet sad on scoing her mother's face?

(b}  What freedom does the poet want for shum children?

(e} Why does Stephen Spender call Shakespeare wicked and the map a bad example?
Answer any six of the following questions in 30-40 words each : [Bx2=12)
(2]  The crofter was & good Losl. Elaloraie,

(bl Why did Reger Skunk go in search of the wizard?

]  What was Lhe chiel coneern of Sadao's uther?

()  How did Franz's teelings about M, Hamed and his school rhanga?

fel  Shukla was poor but resahute, Explain,

([} Whal was the forecast made by the astrobogder at the birth of the kang?

(@ How did Nnirglas clear all the residual deubis ahout the terdor he hods

Answer any one of the following questions in 125150 words : 15
Ureams are niten far removed from reality. Discuss with reference (o the story, ‘Lost Spring.
OR
What was the hase of the story told by Jack (o his daughter? Why was the effort futile?
Answer of the following quesiion in about 100- . words (%)

“The experience had a deep meaning for me, ag only those who have known stark terror and conguered
it can appreciate. In death there is peace. There {8 terror only o the fear of deaih, 3% Ronssvelt knew
when he said, “All we have to fear {8 fear itself, Becuuse [ had cxperienced both the sensation of dying
and the terror that fear of il can produce, the will (o live somehow grew Lo intensity.”

Douglas, nothwithstanding his aversion of water and sxtreme cx.'rmuutlnn keeps m congquertng his
fear of water and finally emergdes victorious.

We all have one fear or another but a few of i< are ahh: to overcome it. What Innate quality should one
possess 19 suereed and overcome all barricrs?

Who had loft the walking-stick with Sherlock Holmes and Watson? What impression did Halmes aud

Walsun form regarding the owner of the stick? (&)
Deseribe Sir Henry's first journey to Baskerville Hall, undertaken in the company of r. Watson in
aboul 125-150 words. (7]
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SUBJECT : FHYSICAL EDUCATION

Time : 3 hrs. M.M.: 70

General Instructions :

fi ﬂil guestions are compulsory.

fii) Question paper carries Pari-A and Part-B.

(iii) Answer to guestions carrying 1 mark should be in
approximately 30 words.

fin) Answer to questions carrying 2 marks should be in
approximately 60 words.

fv] Answer to question carrging 3 marks should be in
approximately 100 words.

fvi] Answer to guestion carrying 5 marks should be in
approximalely 150-200 words,

PART-A

Q1. What does the: word “Trurnament mean? (1]

2. Whal Is Kyphosis. (1]

3. What is Enduranee, (1}

{34. Whatis needjﬁg. (1]

Q5. What are consalation tournamenis. (1]

{36, Define Environment. (1]

Q7. Whal s Knock-Knee? (1)

08  What do you mean by Extramurals. (1)

9. Mention any lwo principles of physical fitness development
in brief. (2

Q10. Enlist the committees for organizing sports events and
explain any one in detall. (2]

311. Whal is League tournament? Explain the merlts and

demerits of league tonrnameni. 12

{1



Q1.

213,

014,
Q15

Q16
7.

15
1%,

20,

Q21.

What do you mean by specific sports programmes? Explain
any one in detail, . 12)

Discuss Rhythmic exercises as means of physical fitness
development. (2)
Explain any three components of physical fitness. (3)
What is the role of an individual in prevention of sports
related accidents? ()
Explain the causes of Eyphosis and Loordosis in brief. (3)
Discuss the factors affecting physical fitnese and wellness
in detail. [3)
Dy o fixture of 25 teams on Knock-out basis. [3)
Explain any five essential elements of proper sports
coviroroent. (5]

Explain [he causes, preventlons and remezl s of Knock-

knees, (5]

Explain the objectives of Intramural competition and

sxiramural competitions. 5]
PART-B

Answer L questions 22-24 from any one game/sport of your
choice only. [Basket Dall, Volley Hall, Cricicet. Football. Hockey

and Kho-Khol

Q22, Mentian two latest changes in general rules of the game/
sport of your cholce. (2)

023, Write in brief about three fundamental skills of the game:/
spott. (3

Q24. Draw a neat diagram of ficld /eourt of the game with all its
measurements and specifications. (o)

{325, Wrile the historical development of the game/sport. (2]

@26
27,

Explain the soft tissue injuries and their management. (4)

Name the impeortant National Sports awards and explain
any two of them, (4)
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